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L=A3+A1 L A2

Daten & P−A3−pc−Fit
AD 26s A&G
Mittel

A1    A2    A3      ∆
0.03 1.0 0.017 0.001
0.071 0.925 0.009 0.003

TG661−1A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−Fit
KR 26s A&Y
Mittel

A1    A2    A3      ∆
0.019 1.102 0.023 0.003
0.027 1.082 0.019 0.002

TG661−2A_3
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L=A3+A1 L A2

Daten & P−A3−pc−Fit
KR 26s A&Y
Mittel

A1    A2    A3      ∆
0.019 1.102 0.023 0.003
0.027 1.082 0.019 0.002

TG661−3A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−Fit
PO 26s A&B
Mittel

A1    A2    A3      ∆
0.034 1.018 0.018 0.001
0.065 0.946 0.012 0.0

TG661−4A_3
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L=A3+A1 L A2

Daten & P−A3−pc−Fit
PO 26s A&B
Mittel

A1    A2    A3      ∆
0.034 1.018 0.018 0.001
0.065 0.946 0.012 0.0

TG661−5A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−Fit
BM 26s A&R
Mittel

A1    A2    A3      ∆
0.04 0.939 0.015 0.002
0.041 0.927 0.008 0.002

TG661−6A_3
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L=A3+A1 L A2

Daten & P−A3−pc−Fit
BM 26s A&R
Mittel

A1    A2    A3      ∆
0.04 0.939 0.015 0.002
0.041 0.927 0.008 0.002

TG661−7A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−Fit
AD 26s A&G
Mittel

A1    A2    A3      ∆
0.03 1.0 0.017 0.001
0.071 0.925 0.009 0.003

TG661−8A_3

L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6,3cd/m2
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L=A3+A1 L A2

Daten & P−A3−pc−Fit
AD 26s A&G
Mittel

A1    A2    A3      ∆
0.03 1.0 0.017 0.001
0.071 0.925 0.009 0.003


